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Note : Answer questions from all the Sections as

per instructions in each Section.

Section—A

Note : Answer any two questions from this

Section. 2%20=40

1. Critically examine the factors that are

hindering rapid industrialisation in India.
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2. Distinguish between tariff and non-tariff
barriers. How do these influence trade
between nations ?

3. Critically discuss Lewis’ model of economic
development with unlimited supplies of
labour.

4. What do you mean by ‘Balanced Regional

Development’ ? How can it be achieved ?
Section—B

Note : Attempt any four questions from this

Section. 4X12=48

5. What do you understand by the term
‘Globalization’ ? What are its advantages
and disadvantages ?

6. “MSME sector has large potential to remove
poverty and unemployment.” Do you agree
with this statement ?

7. How does a monopoly firm decide its pricing
strategies ?

8. Discuss in brief the arguments against

privatisation of the economy.
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10.

11.
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Compare foreign direct investment and
external barrowings as sources of foreign
capital.

Account for the low productivity of

industrial labour in India.

Section—C

Write short notes on any fwo of the

following : 2X6=12

(a) Startups
(b) Daigitisation

(c) Self-reliance as policy goal
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